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HA3—2 BEMICEAIILEESNSEEICEHTOIEE (1/1) _ _ _ _ HEFE TR16ERE
SERONE | EmES 129A2042 BT \ E3TH | FRfEME | EFAGRER KARHT R/E=TH
. SMERM O T inIBES St i SERHA
ﬁg TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE ==
’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 555 69.32| Zh L4t |0.00 ~ 555| 1.73 8.72 ZnLst 1.00f 500 ~ 6.11 69.32| #h st | 500 ~ 611 1.73 8.72
9 100kN/mM#%#BZ % 1.00({0.00 ~ 0.33 104.92|3m%B 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.54 ~ 11.46 104.92|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{033 ~ 8.12 100.00| Z#hdst |0.00 ~ 8.12] 2.16 10.92 ZnLst 1.00f 500 ~ 10.54 100.00] #hkist | 5.00 ~ 11.46] 2.16 10.92
3 100kN/mM#%#BZ % 1.00(0.00 ~ 1.83 128.17|3m%E#B 25 = ~ - = —| 100kN/mM%#8 2% 1.00 10.71 ~ 17.11 128.17|3m%EE 25 =l ~ - - -
Zzh st 1.00{1.83 ~ 9.62 100.00| Z#hldst |0.00 ~ 9.62| 248 12.54 ZznLst 1.00f 5.00 ~ 10.71 100.00] #hkist | 500 ~ 17.11| 248 12.54
4 100kN/mM#%#BZ % 1.00(0.00 ~ 1.31 119.82|3m%E#B 25 = ~ - = —| 100kN/mM%#8 2% 1.00| 10.53 ~ 14.71 119.82|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{1.31 ~ 9.09 100.00] #hkist [ 0.00 ~ 9.09( 220 11.11 ZnLst 1.00f 500 ~ 10.53 100.00] #hkist | 5.00 ~ 1471 2.20 11.11
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 558 69.66| ZnLis |0.00 ~ 558| 1.75 8.83 ZznLst 1.00f 500 ~ 6.15 69.66] zh st | 500 ~ 6.15] 1.75 8.83
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zh LS ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zh s ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~ |
=FE



